
C-Service 3

Slewing system ø110-724 / 415°

3043011Model:F 96 S

3043011 - Slewing system ø110-724 / 415°

Page 1 of 2 2015-08-12



C-Service 3

3048001  2Slewing cylinder Schwenkzylinder

3048012  1Rack bar Zahnstange

3048033  1Step bearing Stützlager

942808464  2Piston Kolben

823561105  2Piston seal Kolbendichtung

823571436  4Locating ring Führungsring

823552007  2Wiper ring Abstreifring

823681808  2O-ring 117,07x3,55 O-Ring 117,07x3,55

456051899  8Socket head cap screw M 12 x 60 8.8 Innensechskantschraube M 12 x 60 8.8

8237101710  8Seal ring Dichtungsring

5433230011  2Circlip 30x1,2 Sicherungsring 30x1,2

9425252112  2Throttle ring Drosselring

4562522013  20Socket head cap screw M 12 x 70 12.9 Innensechskantschraube M 12 x 70 12.9

9423685714  20Bushing Buchse

9456580715  2Throttle pin Drosselzapfen

8237183316  2Seal ring Dichtungsring

9423698151  0Installation band Ø100 Montageband Ø100

9423696752  0Tools for mounting seal Ø100 Werkzeuge für Mont. der Dicht. Ø100

304.301.1  0Slewing system 2 No 82051-, 96051- Schwenkwerk 2 No 82051-, 96051-

Kit 304804 Seal kit Dichtungssatz

823561105  2Piston seal Kolbendichtung

823571436  4Locating ring Führungsring

823552007  2Wiper ring Abstreifring

823681808  2O-ring 117,07x3,55 O-Ring 117,07x3,55

Pos Part No Description EN QuantityDescription DE

3043011 - Slewing system ø110-724 / 415°

Page 2 of 22015-08-12


